PLUS de PRATIQUE 
Équilibrez et identifies le type de réaction. 
1 __ Fe(OH)3 __ Fe2O3 + __ H2O 

2 __ HNO3 + __ Mg(OH)2 __H2O + __ Mg(NO3)2 

3 __ H3PO4 + __ NaBr __ HBr + __ Na3PO4 

4 __ C + __ H2 __ C3H8 

5 __ CaO + __ MnI4 __ MnO2 + __ CaI2 

6 __ Fe2O3 + __ H2O __ Fe(OH)3 

7 __ C2H2 + __ H2 __ C2H6 

8 __ VF5 + __ HI __ V2I10 + __ HF 

9 __ OsO4 + __ PtCl4 __ PtO2 + __ OsCl8 

10 __ CF4 + __ Br2 __ CBr4 + __ F2
RÉPONSES
1 2Fe(OH)3 __ Fe2O3 + 3H2O
 décomposition
2 2HNO3 + __ Mg(OH)2 2H2O + __ Mg(NO3)2 (aq)
 déplacement double 
3 __ H3PO4 + 3NaBr 3HBr + __Na3PO4 
déplacement double 

4 3C + 4H2 __C3H8 

synthèse
5 2CaO + __ MnI4 __ MnO2 + 2CaI2 (aq) 
déplacement double
6 __ Fe2O3 + 3H2O 2Fe(OH)3 (s)
 synthèse 
7 __ C2H2 + 2H2 __ C2H6 

synthèse 
8 2VF5 + 10HI __ V2I10 (aq) + 10HF 
déplacement double
9 __ OsO4 + 2PtCl4 2PtO2 + __ OsCl8 (aq) 
déplacement double
10 __ CF4 + 2Br2 __ CBr4 (aq) + 2F2 (g) 
déplacement simple
